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QUESTION 1

Which two options about PIM-DM are true? (Choose two) 

A. In a PIM-DM network, routers that have no upstream neighbors prune back unwanted traffic 

B. PIM-DM initially floods multicast traffic throughout the network. 

C. PIM-DM supports only shared trees. 

D. PIM-DM uses a pull model to deliver multicast traffic. 

E. PIM-DM cannot be used to build a shared distribution tree. 

Correct Answer: BE 

 

QUESTION 2

A 1Gbps router interface to a nearby data center is showing tehs of thousands of egress drops per day. The round trip
time is 2ms and the average packet size is 1000 bytes. An analysis shows that the traffic is TCP-based business
application traffic.All traffic is import, so GuS won\\'t help. You decide to increase egress buffers, keeping in mind that
the TCP retransmit timer is 2" SRTT. What is the maximum amount of buffering that can be used to reduce the impact
on the applications without impacting application throughput? 

A. Increase the number of buffers until the drops decreases to an acceptable level. 

B. Increase the number of buffers to hold the amount of data in the TCP retransmit timer, (2 times the SRTT or 4ms) of
data at 1Gbps (500 packets). 

C. The default number of buffers is sufficient,the network is performing as it should. 

D. Increase the number of buffers to hold the amount of data in the Bandwidth Delay Product (BDP) ,or 2ms of data at 1
Gbps (250 packets). 

Correct Answer: B 

 

QUESTION 3

Drag and Drop 

Select and Place: 
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Correct Answer: 

 

 

QUESTION 4

Refer to the exhibit. 

If R1 and R2 cannot establish an EIGRP neighbor adjacency, which reason for the problem is most likely true? 

A. The auto-summary command under the route process is disabled 

B. The hello-interval and hold-time values are invalid 

C. The MTU value between R1 and R2 is too small 
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D. The primary networks are on different subnets 

Correct Answer: D 

 

QUESTION 5

Which three campus fabric nodes is SD-Access architecture are true? (Choose three) A. Fabric wireless access points 

B. Fabric border nodes 

C. Control plane nodes 

D. Virtual plane nodes 

E. Data plane nodes 

F. Fabric edge nodes 

Correct Answer: BCF 
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